
Tom has £20

He buys 7 melons. 

How much money does he have 

left?

Circle 3 numbers than sum to 12

6    5    4   3   2    1 
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2Mary makes toys

• On Monday she makes 7 toys.

• On Tuesday she makes 8 toys.

By Wednesday she has to make 20 

toys in total.

How many toys does Mary need to 

make on Wednesday?

Melon

£2 each

3



How much does 250 g of carrots 

cost?

How much does 300 g of parsnips 

cost?

Workers in a factory make toys.

• On Monday they make 2,350 toys.

• On Tuesday they make 235 more 

toys than they did on Monday.

By Wednesday they have to make 

7,500 toys in total.

How many toys do they need to 

make on Wednesday to make 7,500 

in total?
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Carrots

£1.80 per kg
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Parsnips

£2.60 per kg


